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Time: 10 Minutes Paper English 8 (T-1) Total Marks: 10

5th Month, 3rd Week, 2nd Day

Syllabus: Unit # 10: Para: 4,5 Paragraph: A House on Fire
Q.No.1. Choose the correct option. (€))
1. If the farmers are respected and appreciated, country will:
|(a)| progress |(b)| destroy |(c)| backward |(d)| large |
2. Before the creation of Pakistan, the subcontinent was called:
|(a)| Golden Dove |(b)| Golden Pigeon |(c)|G01den Sparr0w|(d)|G01den Peacockl
3. The word "because" is a/an:

|(a)| adverb |(b)| adjective |(c)| pronoun |(d)| conjunction |
4. Choose the correct spelling.
@ fetility |b) fartility ()] fertelity [d)| fartelity |
Read the given paragraph and answer the given questions.

All the farmers must have the fruit of their labour and due respect in the
society, so that the number of farmers may increase. The government should
encourage farmers by introducing more productive projects in the field of

agriculture.

5. All the farmers must have the of their labour.

|(a)| vegetable |(b)| grain |(c)| pulse |(d)| fruit |
6. The government should farmers.

|(a)| discourage |(b)| encourage |(c)| arrest |(d)| transfer |
Q.No.2. How has agriculture made many countries rich? 2)

Q.No.3. Write a paragraph on "A House on Fire". Q)
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1. If the farmers are respected and appreciated, country will:
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Read the given paragraph and answer the given questions.

All the farmers must have the fruit of their labour and due respect in the
society, so that the number of farmers may increase. The government should
encourage farmers by introducing more productive projects in the field of

agriculture.

5. All the farmers must have the of their labour.
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6. The government should farmers.
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